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Set No. of Question Paper,
(MARCH, 2017) circle against which is to be
darken in OMR sheet.
Part-A : Time : 1Hour/Marks : S0 O 1
Part - B : Time : 2 Hours / Marks : 50
(Part - A)
Time : 1 Hour] [Maximum Marks : 50

Instructions :

1) There are 50 objective type (M.C.Q) questions in Part - A and all questions
' are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-pen.

5) Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

1) To Marcus, ‘taking a walk to the nearest corner and back’ was ------------- !
(A) a pleasant trip
(B) brutal slavery
(C) tiring journey
(D) drudgery

2) Jenny considered the diamond ear-rings as a form of that they

B-328

couldn’t afford.
(A) luxury

(B) vanity

(C) wealth
(D) taste
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Dr. Sher Singh stood up and began to put his things together in his bag:-
stethoscope, and reflex hammer.

(A)
(B)
(©
(D)

(A)
B)
©
D)

sphygmomanometer
shpygmomanometer
sphygmonanometer

sphygmonanomotor

university had one of the best football teams in the country.
Oxford
Howard
Ohio

Cambridge

The elders of the workers’ paradise gasped when the girl wanted to go with the
idle man because '

(A)
(B)
(®)
D)

they did not want the girl to go with the idle man
it would set wrong trend in the paradise
never before a thing like this happened in workers’ paradise

the girl had chosen the lazy man

Jerome k.Jerome felt that his heartbeat count was

(A)
(B)
©
(D)

144
74

140
147
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8)

According to Will Stanton, man has been trying to conquer

(A) god
(B) nature
(C) animals

(D) earth

country had the lowest water levels.

(A) America

"~ (B) Arizona

9)

10)

11)
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(C) France
(D) Spain

The author of ‘He Taught Us to Think’ is
(A) Jim Bishop

(B) Coomi Chinoy

(C) Max Eastman

(D) Raymond b-fosdisk

Broad senseless smile was given by Ivan Dmitritch like
(A) a clever person

(B) a stupid person

(C) ababy when a bright object shown to it.

(D) an innocent baby

Mahmood the kitemaker had sons.
(A) Three |

(B) Two

(C) Four

(D) No

B-328
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At in Crete, there was an enormous palace.
(A) Knoses
(B) Knossos
(C) Knosses
(D) Knessos

Miss Beam had some in her school.
(A) Special techniques
(B) Scholastic methods
(C) e-learning devices

(D) rare teaching technologies

America dropped the bomb on on 9th August 1945.
(A) Hong-Kong

(B) Hiroshima

(C) Nagasaki

(D) Tokyo

Transformation equation was written by
(A) Newton

(B) Einstein

(C) Williard Gibbs

(D) Thomas Alva Edison

To allow the climate to stabilize, humanity must cut its use of coal and oil by

(A) 40%
(B) 50%
(C) 60%
(D) 70%
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17) One of the charges against Socrates was that he corrupted the

18)

19)

20)

21)
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(A)
(B)
©
D)

(A)
(B)
(©)
D)

people
children
citizens

young

Darjeeling turns out for a stroll at chaurasta in the evening.
Full
Half
One third
A few

The colour of the wheels of toy train is

(A)
(B)
©)
(D)

blue
red
brown

green

Who was an officer in the ship, Santa Maria?

(A)
(B)
©)
D)

Diego
Repe
Pedro

Francisco

As the mother sings, she

(A)
(B)
©)
D)

smiles
weeps
laughs

gestures
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In the line ‘Taking me back down the vista of years’ the word ‘vista’ means

(A) vision
(B) time

(C) duration
(D) period

How are the eyes of the cat?

(A) They are green like the sea
(B) They are bright and beautiful
(C) They are blue like the sky

(D) They are colourful like a semi precious stone

When does the poet in the poem ‘Piano’ become nostalgic?
(A) When he hears a song

(B) When he is eating his dinner

(C) When he hears a woman playing on a black Piano

(D). When he is resting

The cat is transformed to a for milk.
(A) with lust |

(B) with passion

(C) creeping lust

(D) casual glance

“And the whispering sound of the cool colonnade !” The figure of speech in
this line is

(A) climax
(B) anti-climax g
(C) exclamation

(D) irony



27)

| 28)

29)

30)

31)
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In ¢ The Poplar Field’ the poet feels the absence of

(A)
(B)
©)
D)

(A)
(B)
(©)
(D)

dove
sparrow
nightingale
blackbird

in the poem ‘A Garden by the Sea’ of William Morris is restless.
The river
The garden
The sea
The cloud

Spider’s mind is considered as in ‘The Spider’ poem.

(A)
(B)
©
(D)

a jewel
a diamond
a gold

a silver

The spider has been compared to the

(A)
(B)
©)
(D)

teacher
geometrician
historian

scientist

‘There comes a murmur from the shore’. The figure of speech in the line is

(A)
(B)
©)
(D)

Hyperbole
Metonymy
Simile

Onomatopoeia
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32)

33)

34)

35)

36)

04 (E)/01

‘Pulls a veil down over his brain’- means
(A) he goes to sleep

(B) he tries to remember

(C) stops thinking about his office work

(D) tries to clean his face

The poet of ‘The Guy in the Glass’is

'(A) Dale Wimbrow

(B) William Morris
(C) Jan Morris
(D) Tennyson

‘Bonnie lass’ means

(A) wugly lady

(B) young and beautiful girl
(C) thin girl

(D) intelligent girl

At what time the coffee break comes?
(A) 10:00 a.m.

(B) 12:00 noon

(C) 11:00 am.

(D) 9:30 a.m.

B-328

There were slant eyed children of astonishing beauty [make it compound]

(A) There were slant eyed children who had astonishing beauty

(B) There were slant eyed children that the astonishing beauty had
(C) There were slant eyed children and they had astonishing beauty
(D) There were slant eyed children with astonishing beauty
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37) 1 bought a house on the beach.

[Choose the correct passive voice]

(A) A house was bought by me on the beach.
(B) A house is bought by me on the beach.

(C) A house was bought by them on the beach.
(D) A house was bought by I on the beach.

38) Is that the final answer?
[choose the correct complex sentence ]
(A) Is that which is the final answer?
(B) Is that the answer which is final?
(C) Which is that final answer?
(D) Is that final which is your answer?

39) He glanced quickly at the fourth page to spite her.
[Choose the correct option for ‘to spite’.]
(A) to apologize
(B) to order
(C) to hate
(D) to criticise

40) The phrase ‘to gulp down’ means
(A) to swallow eagerly
(B) jumped up
(C) to move quickly
(D) to getrid of

41) She is not really lame.
[choose the correct affirmative sentence]
(A) She is hardly lame
(B) She is really lame
(C) She is impossibly lame
(D) She is totally normal

04 (E)/01 | 9  (P.TO.)
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42) If I was a co-operative store and a family hotel combined, I might be able to
oblige you.
[using ‘unless’ -choose the correct option]

(A) unless I was a co-operative store and a family hotel combined, I might be
able to oblige you. ’

(B) unless I was a co-operative store and a family hotel combined, I might not
be able to oblige you.

(C) unless I was not a co-operative store and a family hotel combined, I might
not be able to oblige you.

(D) unless I was a co-operative store and a family hotel combined, I might-
oblige you.

43) These I hastily drew, ?
[choose the correct question tag]
(A) haven’t ]

(B) didI
(C) didn’t1
(D) wasn’t 1

44) No sooner did Miss Beam enter in the class than students stood up.
[choose the correct option using As soon as]
(A) As soon as Miss Beam entered in the class, students stood up.
(B) As soon as Miss Beam enter in the class, students stood up.
(C) As soon as students entered in the class, Miss Beam stood up.

(D) As soon as Miss Beam entered in the class when students stood up.

45) Darjeeling is one of the most celebrated Indian hill stations.
[changing the degree - choose the correct option]
(A) No other Indian hill-station is as celebrated as Darjeeling
(B) Darjeeling is more - celebrated than many other Indian hill-stations
(C) Darjeeling is more celebrated than any other Indian hill-stations
(D) Darjeeling is celebrated than many other Indian hill-stations

04 (E)/01 10
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46) I was pushing a wheel barrow.
[choose the correct passive voice]
(A) A wheel barrow was being pushed by me
(B) A wheel barrow was pushed by me
(C) A wheel barrow is being pushed by me
(D) A wheel barrow has been pushed by me

47) She was too fat to enter the door.
[Remove ‘too’ choose the correct option]
(A) She was so fat that she can enter the door
(B) She was so fat that she could enter the door
(C) She was so fat that she will enter the door

(D) She was so fat that she could not enter the door '

48) Which of the following is a simple sentence.
(A) On being deaf, I couldn’t hear.
(B) IfI were deaf, I couldn’t hear
(C) Unless I were deaf, I could hear

(D) I couldn’t hear because I were deaf

49) The verb form of ‘Response’
(A) responsive
(B) respond
(C) responce

(D) responding

50) The synonym of ‘malady’ is
(A) Many
(B) Disease
(C) Acute
(D) Active

04 (E)/01 11 (P.T.0.)
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(Part - B)
Time : 2 Hours] [Maximum Marks : 50

Instructions :

1) Write in a clear hand writing.

2) There are four sections in Part - B of the question paper and total 1 to 18
questions are there.

3) All the questions are compulsory. Internal options are given.

4) The numbers at right side represent the marks of the questions.

5) Start new section on new page.

6) Maintain sequence.

SECTION - A

B Answer the following questions in about five to six sentences each.

[Each of 2 marks]

1) How did the owners know that ’Marcus was only partly deaf? [2]
| 2) Describe the girl ‘of the silent torrent’. 2]

3) What did the writer see at first when he visited Miss Beam’s school? [2]

4) How were the people in Nagasaki warned about the air attack? [2]

E  Turninto Indirect Narration. [1 mark each]

S5) They asked, “Where were you at the time of Bombing?”’ , [1]

04(E) 12
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6) He said, “We are not concerned with beauty in this course”. 1]
B Combine the following sentences:

7) Ivan Dmitritch was a middle class man. He lived with his family on an
income of twelve hundred a year. He was very well satisfied with his lot.

2]

SECTION -B

- B Answer the following questions in about four to five sentences each.
[2 marks each].

8) Write nbteworthy characteristics of the poet’s beloved with reference to [2]
the poem “A Red Red Rose”.

9) How does the spider use his hind legs? [2]
10) What does the poet William Cowper mean by ‘perishing pleasures of man’? [2]

B Answer the following questions in about four to five sentences each .
[2 marks each]

11) What happened after the quarrel between Bernard and his wife? [2]

12) What did the author do when he found a fat female scorpion? [2]

04 (E) | 13 (P.T.O0.)
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Read the following poem and answer the questions given below:

I have heard

There is a law of the jungle

I have heard when the lion has eaten his fill.

He never attacks

He goes to lie under dense shady trees

And when rough gusts

Shake branches of trees

The mynah leaving her own young

Covers the frail crow’s eggs

With her protective wings

I have heard

When any bird-young falls out of the nest

The entire jungle wakes to rescue

Questions:

1.  When does the entire jungle wake to rescue?

2. What is the meaning of ‘Frail’?

3.  When does the lion not attack?
SECTION - C

B-328
[3]

Read the following passage carefully and answer the questions given |[5]

below.

Papaya is the healthiest fruit with a list of properties that is long and
exhaustive. It first originated in Southern Mexico and neighbouring
Central America, but it is now available in every tropical and subtropical
country. Papaya favours digestion as well as cures skin irritation and sun
burns. You can munch on it as a salad, have it cooked or boiled or just
drink it up as milkshake or juices. Modern science confirms the old age
beliefs that Papaya has much to contribute to the health cause. The most
important of these virtues is the protein-digesting enzyme in the milky

juice or latex.

14



B-328

Questions:
Which is the old age belief the modern science confirms?
In what ways can you eat Papaya?
Which is the most important virtue of Papaya?
Where is it first originatéd?
Why is Papaya the healthiest fruit?

OR

S

Make precis by reducing passage into one-third of its size and give a
suitable title to it.

15) You are Devanshi the editor of the school magazine, and want to hold an
inter-class competition to collect poems and cartoons for the school
magazine. Draft a notice for the students’ notice - board inviting entries
for the above competition. [3]

OR

Write an email to your friend advising him/ her about the importance of
out door games.

16) Your school celebrated its foundation day in a unique way. Write a report  [5]
about it.

OR

Imagine that you were on the hot seat of “Kaun Banega Crorepati” and
you won one crore rupees.

Write this experience in your diary entry.
OR

‘Good hand-writing competition’ was organised by your school.

Make a note on the basis of your observation.

04 (E) : 15 | (P.T.0.)
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SECTION-D

17) You are Jay Rawat of 23, Jawahar Nagar, New Delhi. Your friend Rohan
has recovered from long illness.
Write him a letter about congratulating him on his recovery and telling
him how to take care of his health.

[4]

18) Write an essay on ANY ONE of the following in about 200 'words.
1.  Health hazards caused by junk food. K
2. My loving mother

3.  If the Sun does not rise

+ + +
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